
KTM 690 DUKE (’12-’15) 
FRAME SLIDERS

s a t o r a c i n g . c o m

part# KTM-69012FS

SLIDER PUCK
[SDR-L10-85MFJ]

MULTINUT M8-M10-445
[SNUT-KTM69012]

SLIDER BASE [L]
[SDRB-KTM69012L]

SOCKET HEAD M6-35mm
[SBT-M635]

SOCKET HEAD M8-16mm
[SBT-M816]

SOCKET HEAD M6-30mm
[SBT-M630]

COLLAR 40-10
[CLR-40-10V]

WASHER M10
[WS-10]

SPLIT WASHER M10
[SWS-10]

SOCKET HEAD
M10-70mm (P-1.25)

[SBT-M1070]

[R]

[L]

WASHER M6
[WS-6]

COLLAR 10-6
[CLR-10-6]

SOCKET HEAD M6-40mm
[SBT-M635]

COLLAR 15-6
[CLR-15-6]

SLIDER BASE [R]
[SDRB-KTM69012R]

SOCKET HEAD M6-50mm
[SBT-M650]

SOCKET HEAD
M10-70mm (P-1.25)

[SBT-M1070]

COLLAR 40-10
[CLR-40-10V]

WASHER M10
[WS-10]

SPLIT WASHER M10
[SWS-10]

SLIDER PUCK
[SDR-L10-85MFJ]

SOCKET HEAD M6-40mm
[SBT-M640]

To engine mount bolt* 

* NOTE: Some 2012-15 KTM 690 Duke were assembled with the threaded end of the engine mount bolt on the right side
               instead of the left side as originally spec’d. In these cases, the bolt will need to be removed and flipped the 
               opposite direction to install these Frame Sliders.


